
4RUNNER FRONT
DX WINCH MOUNT





Remove the lower front cover by undoing the 
clips holding it in place



With the cover removed from the lower bumper we will trace out a template for cutting openings on the 
lower section of the OEM bumper. This will be reinstalled later. If needed start small and cut tiny sections 
as needed and mount to the vehicle as needed to gauge the need to cut more. Use the dimensions below 
as a guide. The completed result is shown at bottom once installed

6” 6”

3” 3”17.5”7.5” 7.5”



Cut out openings once template is traced. Reinstall once mounting brackets and internal are mounted.





Mount the internal to the frame and provided brackets using the provided hardware. Attach your winch to 
the internal at this time if purchased.



Once the internal is mounted to the frame and brackets. Reattach the OEM front bumper cover.



Use the provided 3/8” clip nuts to attach the cover to the vehicle and internal mount using the provided 
3/8” hex cap bolts. Leave hardware loose for adjustment and alignment of the mounts before tightening.
Repeat for each side. 

Attach the cover and internal mount at the bottom using the provided 3/8” button head bolts and 
washers/nyloc nuts. Tighten all hardware once completed

4 - 3/8”-16 Clip Nuts

4 – 3/8”-16 X 1 1/4” Hex Cap Bolts
4 – 3/8” Washers

3 – 3/8”-16 X 1” Button Head Bolts
3 – 3/8”-16 Nyloc Nut
3 – 3/8” Washers

Cover Side

Internal Mount Side


